Ready-to-progress assessment 


How many 100g servings of rice are there in a 2,500g bag?



[image: Shape, rectangle  Description automatically generated]



One large desk costs a school £100. How much will 14 large desks cost?
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My school field is 100m long. How many times do I have to run its length to run 3km?
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My cup contains 100 ml of fizzy drink. The bottle contains 10 times as much. How many millilitres are there in the bottle?
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A rhino mother weighs about 1,000kg. She weighs about 10 times as much as her baby. What is the approximate weight of the baby rhino?
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Circle the lengths that could be made using 1 metre (100cm) sticks.
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